Jes ,éas o.% ,,6,.,), w{,/ffm

OL) w}zf /[n{té WM{ ,(,_‘_/ AwSSe (a«//?)
by Ko Jot= 6507t o kg (07 G17elp®
—— *la + Cz “(a
HZCZ%/)?.J Hl) + HGG, /f)
4:.’ 0 /é - -
C: +?/ * X
e: (7/6 - 2

=2 sq om a//%nxmwﬁ ﬂ/é*;x a 0. /é

o Trpuvera o D 57 AL 0./6

Aot - TGO o (o))
' [H:C:04 ] 0.6~ 7

9(2 + 6461 )07  ~ 000033 = O
x= [H]= [H0, ] = 0.0744
[HCO, 1= 016 - = 009/
HC104_-(47) = /‘/ /7) * (’za’z— /7/)
4‘: 0. 0744 0074’4 -

' 00%7( 0.07H '~
e-’ 7.4 ?/
aw744 400744

67007 [HILGo,"] . (0.01) ()
[HC,0," 1 (0.074% )

<= [CZO,,‘Z']: 5/7)(/& "% (ﬂvram‘,mtn es7Z !‘mne)
[Hi]= 0.0M ; [HCO7[- 0.074H [0 ] Gaulrh




a) HZP@'") /'//942’
by 4 B (), - ijfzs OH™, clome

Chlp= 2 Gl
V- 2ol . (2) (0.233) (449) - 4.1 L
4 Ca @ (0.51) 7

vk bs pils L H, ot/ S 4 0H
o A m

" chycont = (0.51 ’"’/1’2 ) (ﬂ.ﬂZWZ)

= (0.0/022

g = (2) (028870 ) (00#0L)
= 0.02059

Chy ot Gy) - a1y ) = Y awly) « H07)

L5 0.0l022  0.0205% -
¢t ~0.0[022 -0.0/022 +»0.0/022
e: - 0.00032 vl 0.01022 ot

= es?Z AeFe rmine” h
2 é/% 710'«(/":1[».»3 &-\/d;;ce{ ”

[0 - (0.0/052»/_,. - 0.5l M

00440 + 0-0200 ) L

W%-%(ﬁ%):ﬁ%Z
pit= H.00- 0.7112 = 3.1

_—




a) zero

b) 0(@«5 ea« f«r& Cw (ﬁﬂ> (S)"iﬁ 3(“2 ),2/7 7)

LS

c: +37/ +”?7/
' S Ax

K= [T [PM > 21407 (3.0 (2, )= 07,8

x /)33 7
1/2/ @//ﬁ} N Y/
il = (14l % )[3*40,0% 22397+ §xl6.00] Yo

i

= 3.5:107° 3/
dim 025 Clly: (o (), )= 36) + 216
g 0.25 -
¢: + 3 t 2
e: 0. 25+37( R X

A 0.5
Ko = [T [P0 21072 (0.25)7 (2,)

Sy

= [a21x)7% - L.¥3x/07"
~ \/ %{)*(4) -
sl = (1333 107 " ) [3e 4008+ 243097 + 3w lg.o0] Yfed

5“.7,4/0"4#

18




a) /es r};mses (a) 7L(a/) 50»1//055/%5

b) Cr — Cr%
ccro S ”?gjj 74,0
i e ¢ 072- 20 THD
WO+ AR+ Crion — 212G THO + 1407~
410+ Cr0,2 = 2607 740 + AT T
7H0 v G, S YN

be™ v TH,O + €0, — 2G5+ 40~ red

ﬁgz(?[—oZCOL

, 04-—'* COQ_

3 HCZO"w.?COZwL Kt -
0%111- 71 zt}"——»jcvaa +m/
OH + HC, ~ 200,+ H,0

04-
OH ™+ HC0; ~ 200, + H0+ 2e ﬁ#’(—“

== r o\vm'f me';n.e nhan ele /"MS 0/
ﬁfm &w/e rachm 5 a owz( /c__ t+ gﬂzgﬁd

b+ THO « €, 07+ 34/ ¢ 3H 0,
e 20, Mol (0, « 34,0+ gé,

=D 5;‘7/’//[;97, @74»1'/ f«.e, /055/%’
G0, 5//(204~+ 4HO— 2G>+ o, + [ Vi




@) /MZ (&73>3
b)c«/w{z Z nan/éie, oé nwés oé/ (5/(/{/&3).1
X%}j /’(//24! ¢ 2« M0l + G * /éﬂ?)///: 0.037557»\/
o L0 e [G7]- 0037559 H
[a(“/a/) ¢ 4 c/m/) - Q’(M)j’%)

£: 0.037559 0.9 —

c: -0. 057557 -0.037559+ 4 10.037559
e 0. 7767764 0.037557
. 1/ n 7[

m e %/ “ 7, /) relnmer

[GL(ch)*] = 0037557~ &~ 0.037557
[en=1 - 0.799764+ 4 = 0. 779764
cedotz [CL] avee K

Ke- _Ledcn)] = [G7]- [otaw)]
[CFILen]* K [ ]*

[G*]- _(0.037559) . - [29x)0°"
ARG AT " "

éﬁ‘ S
b iy Ykt ‘“’f,@%

[Ca(“] .3 17"H [dcni]
o) 0.504




